N .. \_ “ LN N \ ,\\\_X

Ro\z g \QV\S\‘L\ | = (00m /\\
ond wmess m= 5 Kﬁ b\amﬁs

‘g(bW\ Cer\(\b\ﬁj. L_
LNy Mass Aznsﬂ(j
M= -Y-E: 0,09 %
AR e e

A mass o{l \Fo\)e kan@\% below ‘n&sh‘\' g 'S

m(y) = MY

\a\ —kv\';iov\ 0'(: Y‘O?C a‘" heiabv’\' D(g I'b clu@+0 'QWCZ. Q-C 31&\1)43 on
fhe Vor*;ovx UQ rope @ ?a\‘v&? % So

e (e e A
C"\ 3\3660( GC Wave ‘\'Yq\lau'b\j a,[,yﬁ pre. o LI&OM 8 o

U (w) = fﬁl:\lwt
e ]
et o /M\\\f
\M‘\quzl ak Lj-‘SSO m 'ﬁbm ‘I'DP

7
of bstom . Waves will travel v and own .




Tine ‘g, wave 4o krase up Vope s
g\\l{h \93 s dea oK. at one ﬂ\'-HLQ

R ece o vopR of hezﬂu 4)
& $%e A‘g ¢

§l>ce<( o(imqv( = m S

distance wave. must travel -Hm,uﬁl«\ “D.KQL = c%
Jomé b hakes o e 'HmwX& ?’ieca. S

e 2 diskan e ) LJ_;W
spet \rﬁ—‘é

go ’\'\M-e + 30 UF o )(DW 15

Y=iom S\00"'\ [COm
] o et ,Lg )
=)o) gl g




